MISCELLANEOUS QUESTIONS

[SET - 22]

Directions (1-5): Study the following information carefully
and answer the questions given below:

XYZ Limited Company organized an exhibition of machine
tools. The exhibition was opened on all the weekdays for
public. Certain pass code were issued to the visitors as
entry card. The pass code of entry card was changed every
hour according to a certain rule as shown below. The entry
time of the first batch of the visitors was 9 AM and that for
the last batch was 7 PM. Each batch was allowed only one
hour. The lunch time was from 1 PM to 2 PM.

Batch | (9 AM to 10AM)

Passcode: course easy set for each year was

Batch 11l (10 AM to 11 AM)

Passcode: easy each course for was set year

Batch Il (11 AM to 12 Noon)

Passcode: each was easy for year course set and so on.

1. If the passcode for the batch entering at 12 Noon is “she
the girl is clever very good”, then what will be the passcode
for the batch entering at 3 PM?

a) Clever good is the very she girl
b) Clever good the is very she girl
c) Clever good the very is she girl
d) Clever good very is the she girl

~ A~~~

2. The passcode of which of the following batches will be
similar to the passcode for the batch I11?

(@) vI (b) VI (c) vl (d) IX

3. If the passcode for the batch Il is “pin to the point is
sharp not”,then what will be the passcode for the batch V ?

(a) Is not to sharp point pin the
(b) Is not to point sharp pin the
(c) Not is to sharp point pin the
(d) Not is to point sharp pin the

4. If the passcode for the second batch is “for the life is
good change got” then the passcode for which of the
following batches is “got change good is life the for” ?
(@) Iv (b) i ((YAY (d) viI

5. If the passcode for batch IV is “do how will the you job
now”, then what will be the passcode for batch Il ?

(a) Job will now the do you how
(b) Job now will the do you how
(c) Job will how the do you now
(d) Job will the now do you how

Directions (6-10): in each question below is given a
statements followed by two assumptions numbered | and
Il. An assumption is something supposed or taken for

granted. You have to consider the statement and the

following assumptions and decide which of the
assumptions is implicit in the statement.

(a) If only assumption | is implicit
(b) If only assumption Il is implicit
(c) If both I and Il are implicit.

(d) If neither I nor Il is implicit and

6. Statement: ‘Country ‘A’ would explore all channels to
diffuse current tensions with country ‘B’ and bring peace
on its borders’ — Statement of spokesperson of country ‘A’.
Assumptions:

I. Country ‘A’ is desirous to diffuse current tension and
restore peace with country ‘B’.

II. It is desirable to use more than one channel when
complex issues are to be settled

amicably.

7. Statement: Two months ago, it was announced that
central government pensioners would get dearness relief
with immediate effect but till date, bank have not credited
the arrears’-A statement from a Pensioner’s Forum.
Assumptions:

| . Most of the banks normally take care of the pensioners.
Il . Two months’ time is sufficient for the government
machinery to move and give effect to pensioners

8. Statements: The bridge was built at the cost of Rs. 128
crores and even civil bus service is not utilizing it, what a
pity to see it grocely underutilized’ A citizen's view on a
new flyover linking east and west sides of a suburb.
Assumptions:

I. The building of such bridges does not serve any public
objective.

Il. There has to be some accountability and utility of
money spent on public projects.

9. Statement: Use our product to improve memory of your
child, it is based on natural herbs and has no harmful side
effects’-Advertisement of Pharmaceutical Company.
Assumptions:

|. People generally opt for a medical product which is
useful and has no harmful side effects.

II. Improving memory of child is considered as important
by many parents.

10. Statements: The traders of State ‘K’ would observe a
state-wide bandh as the state has failed to meet their
demand to resolve sales tax and other issues.
Assumptions:

I. The traders of State ‘K’ have earlier tried other usual
procedures to get their problem solved.

Il. The State ‘K’ is not keen to solve the problem of traders.

11. In the following question, from the given alternative
words, select the word which cannot be formed using the
letters of the given word. ‘Abandoned’



(a) Bonded (b) Banded (c)Bland (d) Bane

12. If "+" denotes "multiplied by", "+" denotes "subtracted

from", "x" denotes "added to" and "-" denotes "divided by",
then 12-6+28x3+9="7

(a) —24 (b)1  (c)-53 (d)8

13. In the following question, select the number which can
be placed at the sign of question mark (?) from the given
alternatives.

3 7 8 3 1 6
2 4 1 7 2 ?
@2 7 (014  (d)28

14. Arrange the given words in the sequence in which they
occur in the dictionary.

1. Decollete 2. Desecrate 3. Decorous
4. Desipicable 5. Destitute
(a) 13245 (b) 15243 (c) 32451  (d) 45231

15. In the following question, select the missing number
from the given series.

1357, 3085, 5282, 8026, ?

(@) 9961 (b) 10441 (c) 11321  (d) 11401

16. Present age of A is 2 times the present age of B. After
8 years the B's age will be 4 times of C's present age. If C
celebrated his fifth birthday 9 years ago, then what is the

present age (in years) of A?

(a) 88 (b)96 (c)92 (d) 84

17. In a certain code language, "REMOTE" is written as
"KYSPGS" and "BRAND" is written as "IRDTC". How is

"MOBILE" written in that code language?
(a) FMJCPN (b) KQMEQN (c) DKHANL (d) DMHCNN

18.1f 19 (36) 13 and 37 (81) 28, then what is the value of
'A'in 43 (A) 38?
(a) 49 (b) 25

(c) 34 (d) 64

19. How many triangles are there in the given figure?

(@24 ()30 (c)28 (d)29
20. From the given options, which answer figure can be
formed by folding the figure given in the question?
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21. In the following question, which one set of letters when
sequentially placed at the gaps in the given letter series
shall complete it?

P_P_RPQ_S_Q_ST

(a) QRQPR (b) QQRPR (c) PQPRR (d) PRQRQ

22. A series is given with one term missing. Choose the
correct alternative from the given ones that will complete
the series.

ML, HG, CB, ?

@XW (b)YX (c)WX (d)zy

23. In the following question, select the missing number
from the given series.

5 12 18
6 11 12

61 265 | ?

(a) 465 (b) 470 (c) 468  (d) 430

24. A series is given with one term missing. Choose the
correct alternative from the given ones that will complete
the series.

AB, EFG, KLMN,?

(@) TSUVW  (b) STVUW  (c) STUVW  (d) RSTUV

25. A series is given with one term missing. Choose the
correct alternative from the given ones that will complete
the series.

AZ, BY, CX,?

(a) KN (b) EV

(C©)EW  (d)ED



